EARAROBREBRT —5 XN—ZXBISH—F 202368138 (X)) 47KiR3H

m B1 HSH—i% (m | mewE - | v wo
[AXE%&]) 17&:700,000 ~ 23&:245,000 9  337%&:140,000H . 43#%&:91,000 5 3&:49,000 &
B RS RS R 1 B5F (F28) g4 (BE) | BBIEGI | E3F |SIEH | AR | AE | BN i) / BE / £EWNS
— - LLIAEES : -3-3- - REIR (KR
17| | PR=vI2FWL "8RS o IS b VS B
RiUAVF4—R B:PIZVNYRIL SRS
o iR : 56- _ ;
21111 I NyE=Ryay # 5 5-—161?(%) 2 1.(233.8 5-5-6-4 | 39.0 2 (4:521) ﬁ%m?’ (KiR)
RIIRRT—VYF— BiY N/ N—F 747b21~777
3 ~ st 4 | ROMG— 1:28.9 1-1-1-1 [39.8| -— 3 487 | 1E4ARERI (KR)
3 2 LAY —0ITVR 55.0 (172) (5) | EHRE
RiLATULRY BEYAR—=A B JE—
3y —_ o7 | B 1:29.0 7-79-7 |38.6| — 7 | 456 | AMBE (KGR)
4|8/10/8¥ 7T -0l 5.0 ) o |WTFE
RiAWTz—JI 8B:9315 BDIT7—LA
RS s o4 | A 1:29.2 5-4-4-4 39.6| — | 10 | 425 |=HZE (KR
5/5|/5| 7TV VAS 54.0 (3/4) @y | ® PTTVF
RALYISVIE B:TITIAT R4S
v~ AiFiE : -2-1- - WERF (BRR)
A BT K E WEp [ e i = Te [ |
RME—RO—F— B:F—hUAUR— BOEHS
~ 4 5 | HLER 1:29.2 9-7-7-6 [39.0| — 5 511 | BliE— (KR
718111 PYITADILT 56.0 F93) () | EEAHHE
KRRy Id—=9IYI BF:TUvIR—K g 2
= v 8 | FIERER 1:29.6 10-10-10-11] 39.0 | — 8 492 | MJIBE (KR)
g 4| RSt 5.0 QD Cn |EumE
RiW—5—=IvF B:7ZRIAVSvT e
N \ ARAHE :29. -9-11- . - RIBE (KR
9 3 | YILRILA =Y 6 R0 1(/%3—? o9 | 9.0 " (455?; e ’
TJUF—Y BSyF—EVF— BO4%S
BIANE 2 -11-8- - IEE (KR)
™ - FAEZERI i 7 ExE 1.(219).8 11-11-8-8 | 39.3 6 (11?3) .—ﬂﬁ,:r% 7
R:TSYIIALR BYREFEIL/ Y INFGT 7 — L
5 4 7 | BURF 1:30.3 4-6-5-9 | 40.3| - 4 | 494 |HFE— (KR
1ni{z|9| F3¥ 5.0 &) s | HLEE
RIIZARIT—IVYF— BNILYFAIN—R KEHIS
@ 11— —BBIEfI
13—7+— 2,6,8,9,(1,5),10,3,11,4,7
20—F— 2,6,8,5,1,9, (10,11),3,4,7
30—7+— (2,6),8,5,9,1,11,7,10,4,3
40— — (2,6,8),(1,5),11,10,7,(3,9) .4
0 ILRE
BB 8 280 | [ DA R 1-8 190H e B 1-7 440M4 3EE 1-2-8 470M
B B 8 120/ 2-8 2504 5 & 1-8 610 3EH 8-1-2 2,180M
1 140 1-2 2004 B8 8-1 880M
2 150M9

ABCDOVTIRHTERERRODDZ, THERAILZETL



